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ST. LAWRENCE HIGH SCHOOL 

                  A JESUIT CHRISTIAN MINORITY INSTITUTION 

            WORK SHEET 16 SOLUTION 

 Sub: ENGLISH  ‘B’                                              Class: XI                                                      F. M :15 

 Topic : As You Like It                                                                                                 Date:09.07.2020  

Multiple Choice Questions :                                                                            1x15=15 

1.Orlando found the duke seated on — 

a. a chair.                          b. the grass.                     c. the branch of a tree.     d. a mound. 

Ans: (b) the grass. 

2. Orlando drew his sword to— 

a. defend himself.          b. kill the duke.               c. kill a deer.                        d. snatch food. 

Ans: (d) snatch food. 

3. When Orlando was going to visit Ganymede, he saw a snake— 

a. lying on his way.       b. about to attack him.  c. twisted round the neck of a sleeping man. 

d. gliding away from his path. 

Ans: (c) twisted round the neck of a sleeping man. 

4. Orlando saw a lioness in the bush — 

a. waiting for its prey to wake.     b. relaxing.    c. lying wounded.             d. feeding its cubs. 

Ans: (a) waiting for its prey to wake. 

5. Orlando fought with the lioness to— 

a. show his courage.    b. save a shepherd boy.  c. save his brother, Oliver. d. save himself. 

Ans: (c) save his brother, Oliver. 

6. Ganymede and Aliena was surprised to see Rosalind’s name carved on the— 

a. bark of the trees.           b. nameplate.                     c. ivory plate.                     d. gate post. 

Ans: (a) bark of the trees. 

7. Oliver begged mercy of Orlando because— 

a. he did not help Orlando in his fight with the lioness.  b. he fled away leaving Orlando to fight the 

lioness.  c. he was full of remorse for his past misdeeds. d. he had once injured Orlando. 

Ans: (c) he was full of remorse for his past misdeeds. 

8. Orlando wanted to settle his estate and house upon— 

a. Celia.                               b. Orlando.                            c. Aliena.                             d. Ganymede. 

Ans: (b) Orlando. 

9. Ganymede could bring Rosalind easily because— 

a. he knew magic.    b. his sister Aliena was Rosalind’s friend.   c. he knew where Rosalind was. 

d. he was actually Rosalind herself. 

Ans: (d) he was actually Rosalind herself. 

10. Ganymede became Rosalind by— 

a. the power of magic. b. wearing country dress. c. putting on woman’s garment. d. God’s grace. 

Ans: (c) putting on woman’s garments. 

11. The duke told Orlando that he thought Ganymede resembled — 

a. Celia.                       b. Rosalind.                                   c. Oliver.                             d. Orlando. 

Ans: (b) Rosalind. 
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12. In Orlando’s fight with the lioness, the lioness had— 

a. torn one of his arms with her sharp claws.      b. eaten away his right foot.             c. killed him. 

d. torn one of his legs with her sharp claws. 

Ans: (a) torn one of his arms with her sharp claws. 

13. The wedding of the two cousins were celebrated in— 

a. in a simple but happy way.               b. with pomp and grandeur.                                c. a royal way.  

d. in the presence of their fathers. 

Ans: (a) in a simple but happy way. 

14. The usurper was completely changed by — 

a. his daughter Celia.  b. his banished elder brother.   c. a hermit whom he met as he entered the 

forest.   d. Oliver’s words. 

Ans: (c) a hermit whom he met as he entered the forest. 

15. The usurper repented and resolved to spend the rest of his life— 

a. in a shepherd’s hut.     b. in a religious house.         c. in a church.                   d. in the Forest of Arden. 

Ans: (d) in the Forest of Arden.  
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